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Learning about the Constitution of the Republic of South Africa (1996)

The Constitution of South Africa (1996) is the highest law in the country. This law is
higher than the President, higher than the courts and higher than the government.

It describes how the people of our country should treat each other, and what their
. . . rights and responsibilities are. The constitution of a country is there to protect all of
us now, and our children in the future.
Our Constitution
helps us to imagine

and build a better
future for all.

Be aware of
our past.

Let us not repeat the
mistakes of past.

We, the people of South Africa;

Recognise the injustices of our past;

Honour those who suffered for justice and freedom in our land;

Respect those who have worked to build and develop our country; and

Believe that South Africa belongs to all who live in it, united in our diversity.

We therefore, through our freely elected representatives, adopt this Constitution as
law of the Republic so as to—

Heal the division of the past and establish a society based on democratic values,
social justice and fundamental human rights;

Lay the foundations for a democratic and open society in which government is
based on the will of the people and every citizen is equally protected by law;

Improve the quality of life of all citizens and free the potential of each person; and
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Build a united and democratic South Africa able to take its rightful place as a
Sovereign state in the family of nations.
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m “ “ Claim your rights as a South Know your Bill
9781431500048 J African and be responsible to of rights & Bill of
— . protect the rights of others. Responsibilitie s.
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& May God protect our people.
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a7 2 Nkosi Sikelel’ iAfrika. Morena boloka setjhaba sa heso.
o
il ’ God seén Suid-Afrika. God bless South Africa.
. Mudzimu fhatutshedza Afurika. Hosi katekisa Afrika.
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Title g o. | Title Pg.

[ Count, sort and show! 2 33 | Target 200 76
2 Clever counting A TA Workins with groups of numbers 78
3q Numbers on a hundred board b 35a Put,t,ing tens together and tcking them 80
3b Numbers on a hundred board (continued] 8 chrt

35b | Putting tens together and taking them 82
IA Place value 10 apart ?continued)
5 Addition and subtraction 12 3b | A visit to the dentist 8L
b Doubles and halves 7A 37a | Add and combine 8b
7 Fractions lb 37b | Add and combine (continued) 88
38 Sorting money 18 38 | Solveit! 90
q Patterns 20 39 | Count and caleulate 92
10| Balls boxes and cylinders 22 4O | Measuring n centimetres ik
Il | Draw. name and compare 2D shapes 24, e T‘”?“ 300 — i

L2 Addlns and subtrcctlng with [OOs I8
12| Time passes 26 43 | Target 40O 100
13| Measuringlength 28 4 | Weighingm 05
I | Capacity 80 45 | Target 500 104
15 Working with mass 32 4Lb | More adding and subtrocting I0b
l6 | Datahandling 3L 4T | Sharpen your skills 108
|7 ComPare and order numbers 3b L8 SHmmetr3 [e}
18 Place value to 99 38 49 BuiHing up to 500 112
19 Putting tens together when we add to 99 [..O 50 MU|t'iP|i°°t'i°n and division (IO) ”l"
20a | Add on a number line L2 S| Count.in 2 16
20b | Add on @ number line (continued) A 52 | Pavewith tles e
2la | Subtract on a number line Lb 53 Using fives 120

54 Wor'king with time 22
2lb | Subtract on a number line (continued] 48 55 Count.in 3s and Ls 12,
22 | Is party time 50 56 | Countin50s 126
23 Counting yp to 200 52 57 Fractions: halves and c{uqr't,ers 28
2L Practice with Ss Sk 58 Fractions: halves, thirds and sixths 130
25a | Count in 25 56 59 | Fractions: fifths 132
25b | Countin 2s (continued] 58 60 | 3D °|?j90t3 134
26 | Money then and now 60 bl | Double and half 136
97 | Count in 3 b2 62 | More double and halving 138
28 What, comes in £,s? bl 63 Gr*oup and combine 14O
29 Patterns in numbers bb ok Maths fun 142
30a | Division 68 Cut-out|

Cut-out 2

30b | Division (cont.inued] 70
3l Fractions 12 f
32 It's about time A

-

Mrs Angie Motshekga,
Minister of Basic
Education

These workbooks have been developed for the children of South
Africa under the leadership of the Minister of Basic Education,
Mrs Angie Motshekga, and the Deputy Minister of Basic Education,

Mr Enver Surty,
Deputy Minister
of Basic Education

Mr Enver Surty.
The Rainbow Workbooks form part of the De/oar‘l’men‘f of Basic
Education’s range of interventions aimed at improving the es

performance of South African learners in the first six grades.

As one of the priorities of the Government's Plan of Action, this
project has been made possible by the generous funding of the
National Treasury. This has enabled the Department to make these

workbooks, in all the official languages, available at no cost.

We hope that teachers will find these workbooks useful in their
everyday teaching and in ensuring that their learners cover the
curriculum. We have taken care to guide the teacher through each of

the activities by the inclusion of icons that indicate what it is that

the learner should do.

We sincerely hope that children will enjoy working through the

book as they grow and learn, and that you, the teacher, will share

their pleasure.

We wish you and your learners every success in using

these workbooks.

/

Published by the Department of Basic Education
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Pretoria

South Africa
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opportunity.
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Count, sort and show!

. 3 How many stars? < Compore answers. )
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Estimate how many stars.

Now count, them.

Find the winner!
" Who made the best estimate?

Fill in your names and answers in this table.

que

Estimate

Number counted

Difference between
your estimate and

your count

2 | 2 8 &4 ® 6 7 © 9 [0
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I counted
in twos.

— 3
Vi o Vim e - - —— ¥
I counted
in ones. 1 & M '

T counted /

in fives.

-
iy
I counted
g in tens.

M\M‘ite number sentences When You add t
ony WO

3 numbers it does not,
: Count the total number of big and small stars in what, their order@dtter
1 is.

: the Picture on page 2.

Write them in two ways.
Big Smadll like this or like this

Pow .-

. qncl asa number* sentence.

1 12 18 14 (5 16 17 18 [9 20

2014/04/29 3:50 PM ‘



O N EE N EE N EN EE EE EE RN EE EN N EE EE N EE Em Em E Ew Ew E

 eee eee © |
® 00066009 |
0000666600 |
 ©69600 0669 .
. eeeeeee €.
o6 seeeee
00000600609
| €660 0006
{6008 00 ©

® &&&&aaam

nt them.

o
£
]

C

D

(o)

(@)

o

>

0
O

3 way to cou
can you fill with the Pumpkins?

Packing the Pumpkins
Ten Pumpkins go in one ba

Countin gth Pumpkins

Find an

H w m 3 b 8
HOW mcnﬂ Pumpkins are lel L over
HOW manﬂ more Pumpkins are neeqe O 1l one more ba




From + to X (addit.ion to multiP|icat.ion)

Complete the number sentences.

(Beipk
\|O +10+10+10 = LO':>49rouPsof|O =L0=/[ XI0=LO

a IO+10+10 =
groups of IO = —

b. O+1I0+I0+I10+10+10+10+10 =
gr‘oupsoﬂO: —

Hands and finger‘s

How many hands? How many finger‘s?
Whrite your answer in2 ways.
groups of 10 = and X 10 =

112 18 14 (5 16 17 18 [9 20
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Numbers on a hundr‘ed boord

Tq"(ins numbers
Count and say all the numbers from | to 100. Point as You go.

| {2 | 3| 4 |5 |6b 8 | 9|10
I

21
3L 4O

95

63

7l

8b
94 100

a.  Write the missing number in each blue block.
b.  Whrite in the other numbers.

c.  What kind of numbers are the He”ow numbers?

M\I\/ﬁte the numbers in words.

q0 ninetH L

71 Sb
I

b | 2 8 &4 ® 6 7 © 9 [0
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L Il2]3]¢L 6|7]8|4
nleleliwlsleln]e]o @ NN 617|189 IL
2 (2223|224 25|26 27| 28] 24|30 2 [2223|2L 25| 2627|2824 (30 21 [22]23 (24 25|26 27| 2829 |30
31 [3233(3L[35|36(37(38(39|40 31 [3233(3L(35|36(37|38(39|L0 31 [3233(3L[35(36(37(38(39|L0
L4243 |LL|L5|L6] LT L8] L9 (50 L4243 |LL|L5|L6] LT (L8] L9 (50 L [42|L3|LL|L5|Lb|LT]L8] L9 |50
51 |52 |53|5L 55|56 57 58|59 (60 51 |52 |53|5L 55|56 5758|5960 51|52 (53|5L |55 |56(57 |58 |59 |60
bl |62[63|6L |65 |6b| 67| 68|69]70 bl |62[63|6L |65 |6b| 67| 68|69]70 bl |62 [63|6L |65 |6b| 67| 68|69|70
7721737 75|76 (77| 78| 79 |80 7721737 75|76 (77| 78| 79 |80 77217374 | 75|76 | 77| 78| 79 |80
8l |82|83|8L[85|86|87|88]89|90 8l |82|83|8L[85|86|87|88]849|90 81 |82(83|8L |85 |86|87(88|89|90
9 |92 |93|dL [95|96 |97 | 98|99 |00 9 [92|93|dL [95|96 |97 | 98|99 |00 9 |92 |93|dL [95 |96 |97 |98| 99 |00
Count, and colour the 5s
Count and colour the [Os. Count and colour the 2s.
from O to 1O0.
Count in IOs from Count in 5s from Count in 2s from
[0 to |OO0. 510 100. 2t0100.
Whrite the |Os from Whrite the Ss from Whrite the 2s from
1O to 1O0. 510 80. 2t0100.

1112 13

4

15

16

7

1§ 19 20

2014/04/29 350 PM‘




Numbers on a hundred board (continued)

M Looking for Pctterns

l {2 3| 4|56 |7T|8|9]I0
{12 [ 1314|1516 |I17]18 |19 |20

o |22 23|24 (25|26 27 (28|29 |30

31 |32 |33(34|35|36|37|38]|39 |40 o
LI | L2 | 43 | 4L | LS| Lo | LT | 48| 49|50
5 |52 53|55 |55|5b|57(58|59 |60 - n——
bl | 62|63 |bL|b65|bb|b7|68|69]|70 G
7117273747576 |77 78|79 |80 \

8l |82 |83 |84|85|8b6 8788|8990
9 |92 |93 (94|95 |96 |97 |98 |99 |I0O

Tick [/) all the I0s Cross (X] the 5s Circle (O) the 2s

Write the numbers that are in both the 2s and the 5s Patt,er‘n.

5 | 2 8 &4 ® 6 7 © 9 [0
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Count.ing Patterns

Fill in the missing numbers.

0:10:; 20; : - 80; ; : 80; - 100;

; |30, , , |bO, , ; , 200

0; 5;10; ; . 25; ; ; L.O; : 50; 55; :

. 10; ; : 85; ; 100

O;2; 4; b; ; 12; ; 18; 0 22: 2L, ;

: 30; ; . 3b; 38; ; ; ; Lb;

O; . 8; . 1b; 20; : 28; : 3b;

. 52; ; ; bl; .12, .80

O; :10; . 20; :30; ; LO; ; . 55;

bo; ) 70, 75, ’ 85, , ; IOO

O; 3; .9, .15, 18; ; 2L ; : 33; . 39;
A}

9L 5T: 1 b3; ; :712: 75

112 18 14 (5 16 17 18 [9 20
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PlGCG vq|ue

Showins your numbers

: 3 Cut out, the number cards from Cut.-out, sheet, |.
Use the cards to build these numbers.

L3 69

h 0000000000
000000000

B IIII
7
-
=~

Now do it Bourseho for these numbers usins Cut-out, I.

TA

o ! 2 3 4 5 6 7 8 9 [0
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Writing these numbers

We can QlSO
We have done the first, one for you. say 9 ones.

19 10+ 9 lten -+ 9 units

43
69
Sl
35
2|
13
A
32
89
7
95
ob
68
b/

Whrite the first five numbers, in the table above,
in order from smallest to bigsest..

nineteen

112 18 14 (5 16 17 18 [9 20 n
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Addition and subtraction

Lebo's stall
Inthe mor‘ning Lebo has 19 Packets of qpp|es.

- B 83 lunchtime she has |13 Pockets left.

a. HOW mcn3 PGCketS does Lebo se”?

b. Write your answer as a number sentence.

Whrite five other numbers sentences to show the same answer.

5-9=156

e o 1938
IO +5= Il +6= 14 -9 = |4 —8 =
I+ 5= 17+ 2= 9-7= 14— =
12+ 6= 3+I13= lb—-5= lb—13 =
L +15= 1510 = 19-7=

w | 2 38 &4 B 6 J/ © Y
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Can You find all the number families of 147?

[+ 13 =14

13+ 1 =14

lL—1=13

It —13 =1

2+12=

3+1l=

L+10 =

5+9=

b+8=

7+7=

( I am qoing to do ,
the sasme \?«ith 2.

[+11=12
2+10=12
3+9=12
L+8=12
S5+71=12
b+b=12

1 12

4

15

7

1€ 20




| DO HOU remember?
|

' Double 2is £ Double 20 is 4O L is double 2 4O is double 20

We can Sl’\OW tI’\IS Ina dr‘qwmg e

o o
o o

( )
m Challenge

F|no| one hadlf of 3.

:. ShOW asa numloer or number‘ name. A clr‘awing mlght heIP BOU.

w [ 2 38 4 5 6 7 8 9 [0
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Double the number using a number line.
The first examP|e is Siven to You.

...............................

b. Double 5 + =

T T T T T T T T T T
o | 2 3 L 5 & 1 8 9 0

. Double 20 T =

M | | | | | | | | | |
O © 20 30 LO 50 60 7O 80 90 100

d. Double 40 + =

o] |
O 10 20 30 4O 70 80 90 100

M ComP|et.e the fo"owins ComP|ete the fo"owins
a. Double | 2 a. Half 6 3
b. Double b b. Half 8
c. Double IO c. Half |l|.
d. Double 30 d. Half 60
e. Double 50 e. Half 70

112 18 14 (5 16 17 18 [9 20 15

ENG'NUM'G3'B1"9781431500048'indb"15 2014/04/29 3:50 PM ‘ _



Colour one quar‘ter‘ of the balloons red and

the rest blue. / o |
Colour one half of each box red. \%
S, Look at the shapes. Tick the

shqpes that show halves.

' | Colour one half of each shqpe that
" is divided into halves. \_ J

-
=\ vy

Look at the sl‘ques. Tick the shqpes that show oluqrters.

Colour one quqr‘ter‘ of each sl'\qpe that is exqct,|3 divided into eoluc| quqr‘ter‘s.

// \\ E

/ 1\
AN |\ ]/

AL

- | 2 38 4 5 6 /7 8 9 [0
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{‘- Colour in a half of the shapes. What is a half of the number of the shaPes? S —

MCO'OUP ina quar‘ter of the shapes. What is a cluar‘ter‘ of the number of the shapes?

one quqr‘ter‘

Draw more shdpes to make each ciuqr‘t,er‘ equa|.

[] [ ]

L0
]

112 18 14 (5 16 17 18 [9 20
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Sor‘ting money

At the stokvel

] R Ma Lubisi counts and sorts the money from the group.
©

Estimate the total amount. R

Compare estimates
and totals.

Count the money. R

Saving money ,".F \

Clugu saves for a Pair‘ of shoes that costs R89.
So far she has half the amount.

HOW much more cloes she need?

wm Lo

Whrite a number sentence to show your answer.

o | 2 38 4 & 6 7 8 9 [0
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At the bank

Maria sorts the notes into Pi|es of 5.
She also has some notes left over.

White the totals for each row of Pictures.

Amount

Challenge
A visit to the zoo

Some adults and children go to the zoo.
Thea buH tickets for RAO.

How many are children?

How many are adults?

746]6,

Is there another answer? @k)ﬁﬁéf’@@
© Aduks Children

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

112 18 14 (5 16 17 18 [9 20
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o . Patterns

Use this 200 number board to answer the questions.

I 2 3 A 5 b 7 8 9 10
Il 12 13 /A 15 lb [7 18 19 20
2l 22 23 2L 25 2b 21 28 29 30
3l 32 33 3 35 36 37 38 39 4O
LI | 42 | K3 | A4 | LS | 46 | 4T | 48 | 43 | 50
] 52 53 S, 99 Sb 517 58 59 60
ol b2 63 bl b5 bb b/ b8 69 70
7l 12 73 1L, 75 76 1 78 79 80
8l 82 83 8L 85 86 87 88 89 90
q 92 93 qL 95 96 q7 98 99 | 100

IO | 102 | 103 [ 104 | 105 | 106 | 107 | 108 | 109 | 1O
Il 112 113 14 115 Ilb II7 I8 19 | 120
121 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
13l 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 14O
|41 142 | 143 | 14k | 165 | 146 | 147 | 148 | 149 | 150
151 152 | 183 | 154 | 155 | 156 | 157 | 158 | 159 | 160
ol 62 | 163 | 164 | 165 | lbb | 16/ | 168 | 169 | 170
7l 72 | 73 | 17L | 175 | 116 | 71 78 | 19 | 180
18I 182 | 183 | 184 | 185 | 186 | 187 | 188 | 189 | 190
9l 92 | 193 | 94 | 95 | 196 | 97 | 198 | 199 | 200

. 1 Use the 200 number board to comP|ete the next, four numbers in these number
Pattems. Then colour the Pqttern on the number board.

103,110, 115, : : , 87,90,93,
36, 40O, L4, : : : 184186, 188,
70,65, 60, : : , 138,135,132,
180, I76, 172, , , , |4.,12,10

> | 2 38 & B 6 /7 © 9 10
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x * X .- "EK
P X wi
| :

Write the numbers that, come next in each Pcttern. Then colour in the Pot,t,ern.
What do You notice about, the numbers shaded with the same colour?

o

Counting in fives. Counting in twos.
o) (@) 2 A
Counting in threes. Counting in tens.
3 b O

MExtend the Pqtt,ern.

A A AN
e L e

112 18 14 (5 16 17 18 [9 20

1 cem
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~
£
The box The cahnder‘ The ball

slides rolls slides rolls slides rolls

2 [ 2 83 4 B 6 7 © 9 10

‘ ENG NUM G3'B119781431500048"indb22

oooooooooooooooooooooooooooooooooooooooo



Colour in the correct, answer.

'-—. /'I\/{ i\/I \\

CUPVGCJ ec]ge curved edge curved edge cur‘ved edge

st,r‘olght edge str‘qlght edge / K st.r‘qigl'\t eclge str‘alght eclge

BZANG
II ﬁ N N

CUI"VGd edge CUI"VGd edge curvecl edge CUPVGd eclge

ANG

st,r‘mght eclge strmght ec]ge str‘olght ec]ge str‘oight edge
—/ \Z —/ \Z —/ \Z —/

M 303 if the can is behind, in front of, next to or on toP of the box.
behind in front of
next to on toP of

m behind in front of . ﬁ behind in front of
' next to on toP of next to on toP of

112 18 14 (5 16 17 18 [9 20

behind in front of

next to on toP of
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oooooooooooooooooooooooooooooooooooooooo

DF‘GW, name and comPar‘e 2D Sl"\GPeS
” Draw the shqpes.
o

Trian9|e Circle

Scluqre Rectqng|e

m Countins the shqpes.

Count how many shqpes like this You can find in the Pict.ur‘e.

>

A
O
O

2.1 .4

- | 2 38 4 B 6 /7 © 9 10
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Colour all the

loig circles r‘ed, small circles green;
loig tr‘iqn9|es blue, small tr‘iqn9|es orange;

blg squor‘es UGHOW, smq" squqr‘es PUT‘Ple;

big r‘ectqn3|es brown, small r‘ectqn8|es Pink.

O N EN N N N N RN M M EN N N N M M EN RN RN NN BN N M RN RN RN RN BN BN RN M RN RN RN RN RN N RN RN RN ES Em Em o

Ve o e e e R R M R R R M M M e e e e e

M How many sides?

How many sides does each shope have? Write the number in the block.

We have done one for you. Are the sides st.r‘aight or curved? Colour in the correct answer.

112 18 14 (5 16 17 18 [9 20 2
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Time passes

Reading the time
What times do these watches show?

OIC|OC|( O'C|OC|( OIC|OC|(

{ W
JumP around the clock

He|P Minnie Mouse count the minutes in Ss.

Start at the 12. Go all the way around.

How many minutes do You count,?

How many minutes in | hour?

Writins the time
Draw the hands to show the times.

cluqr‘t,er‘ qut b half qut 8 cluqr‘t,er‘ toll half qut 5

- | 2 38 4 b 6 /7 © 9 10
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He leaves home. He Sets to school.

How |on3 does Zander take?

Bakins dqtd
Maria bakes bread.

The bread goes The bread
into the oven. comes out.
The bread bakes for minutes.

Cho"ense
[ TIcanseea Patt.ern. }

In double time
a. Chonge the hours to minutes.

Hours | 2 L 8
Minutes 60

b. Mandlatakes .5 minutes to get to school. Zander takes twice as |on3.
. How many hours does Zander take to get to school?

112 18 14 (5 16 17 18 [9 20
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Meosur‘ing |engt|'\

Together‘, all

the sides of this Together, dll
the sides of this

scluare are

L Penci|s |on9.

triangle are
9

3 Penci|s |on3.

T wonder how
|on9 and wide the
r‘ectan9|e is.

How many Penci|s |ong is the rectcn9|e'?

How many Penci|s wide is the rectang|e?

|en9th

\

width

How did You use the Penci|s to count?

- | 2 38 4 b 6 /7 © 9 10
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a. How many of the red lines do You need to cover the black line?

b. How many of the red lines do You need to go all the way
around the r'ecton8|e?

c. Whichis |on3er*, the top Pqth or the lower one, or are theH the same?

112 18 14 (5 16 17 18 [9 20
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oooooooooooooooooooooooooooooooooooooooo

The measumng Ju holds 1O cups
of water. I have cﬂr‘eadﬂ Put two
cups into the measurlng Jug

How many more cups of water will fill the container?

~w How many cups of water are in the container?
ow many cups more do we need to fill the container?

- Tg
Inth '@I Need -1 9 Inth @ Need :
- TG ¢ FF |

TTT HD TGE E'

In the container: Need more: In the container: Need more:
O R :

set ) ¢ %)
Fgad —

In the container: Need more: In the container: Need more:

2 | 2 8 4 5 6 7 8 9 10
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If one cup fills thejug to the second

interval, how many cups do You need
to fill the jug to:

112 18 14 (5 16 17 18 [9 20
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Working with mass i

R Let's measure how heqv3 we arel
- 2

To find out, how heovg or |i9|'1t, we are, we use a scale.

We use |(i|ogr‘ams to measure how heovg we are. t' ﬁ
We use this abbreviation: kg. Who weighs the most? ﬂ

¥

LIkg 38 kg LIkg L2kg 39kg

{ W
We use a balance sca|e to measure mass.

i P'Qia"w \ :j/ i M
\ | l |

I ' o

' nd
! \ ) N -‘; 2 & i
ﬁ Answer the question. Write aor b.

On this scale both GPPIeS On which scale is the green GPPle heavier than the red GPPle

weigh the same.

. J

On which scale is the green c1|o|o|e |ighter‘ than the red a|o|o|e

. | 2 3 4 b 6 /7 © 9 10
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’ Balance the scales.

We did the first one for you.

Draw how many bricks or balls You need
to make these scales balance.

Two bricks weigh the
same as four balls.
_ J
M If one Parce| weighs 3 kg, how much will 2 and 3 Pdrce|s weigh?
a 2 Porce|s kg
b. 3 Parce|s kg

c. CanImeasure 4 quce|s at the same time on this kitchen scale?

WhH or whH not?

Tick in the answer blocks which olgjects weigl‘\ about | kg.

<V

L= o=y

&

—

S

112 18 14 (5 16 17 18 [9 20
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Data hqncﬂing
’ R Shoes in the class

4

Read the stor‘g.
Thabo: Wow, Miss! Jack is a giqnt! He wears size b shoes!

Mrs Khoza: Welll Yes, Thabo, that is big for a nine Year old!
What size shoe do You wear Thabo? What sizes do the rest of the class wear?

Let'sdoa sur‘veg!

The learners call out, their sizes, one 53 one.
Mrs Khoza writes the sizes on the board.

Mrs Khoza: Count, then write how many of each size.

Fill in the table below.

Shoe sizes in the class

Size | Size 2 Size 3 Size L Size 5 Size b

w | 2z 38 4 ©5 6 7 © 9 10

- ‘ ENG NUM G3'B1'9781431500048indb" 34 2014/04/29 351 PV -



‘)‘L * J:t >

2 78 o,

o,

&

a = one ledrner

=

Size | Size 2 Size 3 Size L - Size b

Now answer these questions.

a. Most learners wear shoe size

b. The fewest. number wear size

c. children took Part in this survey.

What, about, Hou?

Find out, what shoe sizes you and your friends wear!

Work in a group of bto 8.
Collect, your data.
Write the number of shoe sizes in a table.

ComPore answers with other groups.

112 18 14 (5 16 17 18 [9 20 3

78
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T

What number is h O () O) What number is
before 847 . between 88 and

What number is q0?
after 847

Fill in the missing numbers.

b/

]l

Use the number board to answer the oluestions.

' Which number is before 687
Which number is after 687?

Whrite down five numbers smaller than 7I.

Write down five numbers bigger‘ than 71.

What numbers are between 79 and 84?
Write the numbers from the smallest to |c1r‘gest. 13,52,50, 59, bl

Write the numbers from the |drgest to smallest. 74, 96,99, 9|, 38

- | 2 38 4 B 6 /7 8 9 I0

'H\HHH‘\HHHH‘HHH\H‘HHHH\‘HHHH\‘HHHH\‘\HHHH‘\HHHH‘\HHHH‘
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Comp|ete the table. Start with the 3iven number.

one more one less ten more ten less

25
39
14
Sb
4O

Circle the biggest number.

18 817 17 36 63 33

Circle the smallest number.

99 19 9 A A 4O

If < means smaller thqn, and => means bigger tl’\on, comP|ete:

¥ B

32| < |b4 23| > |18

S 98 89 S

Find 5 numbers in a newspaper between 50 and 99 and Paste them in order from
the smallest to the biggest.

4 \

\_

1z 18 1« 16 16 17 18 19 20

J
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Place value to 99

Showing numbers usins ol?ject.s

Tens Units

We can show numbers with P|qce value blocks.
A small block stands for al. It is a unit.
A rod of 10 small blocks stands for a 1O. It is a ten.

-
- Tens Units
You can show a number using = L 7
tens and units. -
- f\orta -seven
Here is how to show /7. - L7
\_ T J
m' Writins numbers in disits and words
a. Under the Ioicture, write how many tens and how many units.
Then write the number in SHmlDOlS and words.
[ ]
[ ] [ ]
[ ] [ ]
[ ] [ ] [ ]
Tens Units Tens Units Tens Units
3 |
3l
thir‘tﬂ _one

- | 2 38 4 B 6 /7 © 9 10
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b.  We can also use our number cards to show it.

Number | oWmany | Howmany Wit o e
tens? units?
26 2 b twenty-six
Lb
q9

What is the number?

3 5
thirtﬂ five
35

‘ Tens Units
]

Tens Units

]
Tens Units
[
[
[

112 18 14 (5 16 17 18 [9 20 %
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Putting tens together‘ when
we add to 99

Y

Here is one way to We have one ten Now we have another way to show
show 22. We have twelve 22,
Tens Units ' units. Tens Units
We wil PUt 10 2 tens 2 units
of the units in
i 2B

Let's add 27 + /. The blue blocks are the units we start with and the red units are the

units we are cdding to them.

27 is 2 tens and 7 units.

We have 2 tens and Il units.

NOW we hove

Then we add £ more units. 3tens + | unit = 3l
Tens Units Tens Units Tens Units

2 tens

7 units
+ 4 units

We can show 1O units as | ten.

" U

S ‘ ENG NUM G3'B179781431500048"ind
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m Write the number sentence shown bH the Picture.

[ & [ Te I ® [ U i T | T& |

] [

J O

: 3 .

0 O

J O

7 &

IO+5+6 +  + + =

ComP|ete the Pict.ures Whrite the number sentences shown 53 the Pictur‘e.

eacher:

12

13

|

5

16

17

1§ 19 20

094/04/29 3:51 PM‘




Sit at your desk!

In our school each learner has their own desk.
There are 46 learners in Grade 3A and 24 in Grade 3B.

HOW mdnld desks CIO we nee<:| 'FOP both ClGSSGS?

Workins with a Partner

the exqu|e.

Add on a number line

Look at how these three learners used a number line to solve the Prob|em. ComP|et.e the sums using

+10 +10 + 4
"
Lb 56 bb 70

This is what I do: I first add 1O. This br‘ings me to 5b.
Then IJumP another 10 to get, to bb.
And |ast|3, |JumP L, more to land at 70.

= L6+ 10+ 10+ 4
=50+ 10+ 4

= bb + 4

=170

.

N\

I must add
2/ to L.b.

a 32+ 25=

2z 8 & 5 6 /

42 [I

‘ ENG NUM G3'B1'9781431500048!indb" 42
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b. 52+ 2b =

A

c. Lb+ 25=

+ 4 + 20
- |/\‘|/\| > I must add 2/ O
@)
Lb 50 70 to 46, ©

This is what I do: First, I wi||JumP L. That will br‘ing me to DO.
I canJumP 20 more, which brings me to /0.

=4O+ 10+ 20
=50+ 20
=170

1z 18 1« 16 16 17 18 19 20
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This is what I do: From 4.6, I conJumP 20. That Iorings me to bb.
Now I have toJumP Ly more and then I reach 70.

= L4b+ 20+ 4

= bb + 4
=170
a b3+ 24 =

b. 65+ 29=

m | 2 38 & B 6 /7 © 9 [0

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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“ How many loaves?

The baker delivers 5/, brown 'ond b8 white Eﬁ loaves.

a. How many loaves a|together‘?

b. Find the total on a number line. Show the numbers and the size of thejumps.

150

Oh

Add the fo"owing without, using a number line. Use any other method You like.

38 + 24 =

1z 18 1« 16 16 17 18 19 20 45
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One |eqrner! One ruler!

The CIGSS needs 53 ru|ers. \A/e hove on|3 35
HOW mqnﬂ more CIO we neecl? 53 - 35 =

Workins with a Partner

Read how the same three learners use a number line here. Comp|ete the sums using the exqu|e.

I have to subtract
35 from 53. Subtraction

means to take away.

-2 -3 -10 -10 -10
A S e

<

I8 20 23 33 43 53

So, I will start at 53 and take away. T'll take away IO, 10, 10 — that br‘ings me to
23. Now to take away five. First, I take away 3, and I come to 20. I take away 2
more and I get, to 18. So we need |8 rulers.

=383-10-10-10-3—-2
= 43-10-10-3-2

=33-10-3-2
=23-3-2
=20 -2

=18

m | 2 38 4 B 6 7 © 9 [0
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—~—V

-5 -3 “10 Subtraction means to find O
N Y S the difference between
| | > 53and 35.

35 LO L3 53
T'll start at 53 and count, down to 35 to find the difference. If I count back

|03 0,1 get, to £.3. I can count back 3 more to Set to 4O. Then I count down 5
more to get to 35.

IO Plus 3 P|us five is 18. So we need |18 more rulers.

a 38—Il4L=

1z 18 1« 16 16 17 18 19 20

2014/04/29 3:51 PM‘



ubtract, on a number line (continued)

b. 65— 43 =
c. 12—39=
d 85—-48=

\

\.

+ 10 +5 +3
< T a > I can start at 35 and see
| | | | how many jumps it takes
35 L5 50 53 me to count up to 93.

I can start at. 35 and see how mcnﬁ‘jumps it takes me to count, up to
53. Ten Plus five P|us three is I8. We need 18 more rulers.

a.

8L—32 =

48

‘ ENG NUM G3'B199781431500048"indb48
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“ Goins bH taxi

TheJour‘neH bﬂ taxi to town is 69 km.
So far the taxi has travelled 38 km.

How much further to 90?

Use the number line to solve this Pro|o|em.

eacher:

1z 18 1« 16 16 17 18 19 20

49
Lovocccoocborrorocboccocoooc o] beccccococ booooooocbeccccoco oo b |
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It's qu‘tﬂ time

First P|c1n!

Busi asks all of her friends to 9ive her a Picture of their favourite PartH food. This is
what she has collected. He|P to sort it.

Count, and write how many friends choose each Kind of food.

E V' o

o | 2 8 4 & 6 7 © 9 [0
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W ComP|ete the Pictogr‘aph. Use your table to he|P you. Draw one face [@] for each
child that chooses that kind of food or drink.

M olololololelelelole

! 9 &

112 18 14 (5 16 17 18 [9 20
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Countlng up to 200

3 Count the GPPIes

Fill in the numbers.

|Boxhas [ | apples IRowhas [ | apples
[|. ROWS I’\CIS |:| CIPPIeS

@ Count on the number line.

HOW mcnﬁ OPPIeS WIII there I:)e N ﬂve IDOXGS')

R VML VIl WAL ittt \ >
‘I I I I I I I I I I s

0 10 20 30 4O 50 6O 70 80 90 100

L’). HOW anH GPPIeS WIII tI'wer‘e I)e in seven L’)OXGS?

T | | | | | | | | | ™
O 10 20 30 LO 50 b0 70 80 90 100

o | 2 38 4 B 6 /7 8 9
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3 lots of |O make

5 lotsof |O make X = or X =
2 lotsof |O make X = or X =
5 Pairs of feet.

How many toes d|t.oget|1er?

o =

I

Cavatatatay

M o o o

IO+ 10+ 10+ 10 + IO=- 5X10

or |Ox5=

Do these in the same way.

", Pairs of fect. How many toss?
= < = or % =

9 Pairs of foet.. How many toss? |
= < = or % =

Count in Os.

10, 20, 30, 40, 50,

: : : : : : : , ,200
112 18 14 (5 16 17 18 [9 20

53
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How many fish? Make an estimate

Now count the fish. Find the total.

Counting in Os
Find the total number of fish eqgs. Write a + and X number sentence.

We have done the first one for you.

Practice with 5s

Fish and eggs

How many eqgs d|toget|‘\er‘?

5 fish, each |c13 2 eggs

2+2+2+2+2=10 5X2=10

5 fish, each |c:3 1O eqgs

5 ﬂsh, each |<:13 [.. eggs

5 fish, each |c:3 3 eggs

5 fish, each |03 b eggs

5 fish, each |c13 8 eggs

5 fish, each |c|3 9 eggs

S ‘ ENG NUM G3'B1L9781431500048"indb 54
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5+5+5+5+5+5+5=

»

a. < |
0 5 (0] 15 20 25 30 35 LO 45 50
5+5+565+ 5= or X =
b | | | | | | | | | g
0] 5 (0] 15 20 25 30 35 LO 45 50
5+5+5+5+5+5+5+5+5= or X =
o | | | | | | | | g

]
0 5 10 15 20 256 30 35 4O 45 580
+ _ +_ +_ +_ +_ +_+_+_+_= or 10 X 5 =50

u Catching fish

Sipho catches between 4O and 50 fish. He counts them in 2s and has | left over.

He counts them in Ss and has 2 left over. How many fish does Sipho catch?

112 18 14 (5 16 17 18 [9 20
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Count, in 2s

Counting the socks

qa. How many Pqirs of socks?

b. HOW manﬁ SOC|(S are there?

c. Are there any socks left, over?

- | 2z 8 4 B 6 7 © 9 [0
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Write how ma ny P s of socks ther and say i ere are any left over
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Count in 2s (continued)
Bui|din9 pairs

Whrite down the even and odd numbers from | = 60.

a.  Write down the even numbers from | — b60.

2. 4.6,

b.  Whrite down the odd numbers from | — 60.
357

“ Odds and evens

DPQW (o} cir‘c|e GPOUHCI the even number‘s.

DT‘GW a scluor‘e ar‘ounc] tl'\e OCId numbers.

- | 2z 8 &4 B 6 7 © 9 [0

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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From Pairs to socks

~

Examp|e:

2 socks = | Pcir‘ t 20 socks = 10 Pairs

2X|=2 2X10=20
N J

a. Write how many socks.

Think in 2s Number sentence
| pair = 2 socks X| 2 | =] 2
2 pairs = socks X| 2 | =
L pairs = socks
8 pairs = socks
9 pairs - socks

b. Show the sum on the number line and comP|ete.

Example:

2+2+2=0b6or3X2=56

A Ty A

11 12 18 14 (& 16

17 18 19 20

o

014/04/29 3:52 PM‘



Moneg then and now

3 The stor‘H of our money

In South Africa we use rands and cents as our money.
We started to use rands and cents in [96l.

In those clcgs the | cent, coin had the lowest, vqlue, then the 2 cent coin and then the 5 cent coin.

()
1
]

o

oW EN BN BN BN B Wy
g W
)
3,
@ E----

&
i
®,

Yes, you're
T used these small coins riaht, they are
to ay for alot of things. n3|or; er Eein
hings were so cheaP m%:de' :

then!

But, Crogo, I

have not seen
| and 2 cent

coins.

About 50 years 0510 we Yes, I remember! | Pound was
still used poundS, shi |in95 20 shi"ings, and | shi"ing was 12
and pence. pence.

w | 2 8 &4 5 6 7 8 9 [0
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m‘ Count the cents
' 9000000000

oo thrs? 0000000000

2000000000
0000000000
2000000909
..........
20000909
9200000
..........

How many more cents do You need to

make RLOO?

Draw them in the block.

2000000000
How many cents?
RIOO = c R200 = c
R300 = c RS5O = c

How much fruit can I bug?

cost, RLL.OO. 2 é i cost R200.

HOW mqnﬂ bqncnqs 'FOI" RQ0,00?

-y

HOW man QPPleS 'FOP Rq,oor)

1 12 18 14 (5 16 17 18 [9 20

2014/04/29 3:52 PM‘



Count, in 3s

Wheels in 3s

| tricycle has wheels.
5tric3cleshave_wheels. 3+3+3+3+3=5%x3=__
2tricycleshave  wheels. 3+3=2x3=__
L tricycleshave  wheels.
btricycleshave  wheels.
Atricycleshave  wheels.
Btricycleshave  wheels.

m. Number lines

Follow the exqu|e.

aa 3+3+3+3= =L X3=

w | 2 38 4 B 6 /7 8 9
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b

T | | | | | | | | |
O 3 b6 9 12 1B 18 2 2, 2

3+3+3+3+3= - x| |=
C. P _
o | | | | | | | | | |
O & b 9 12 15 18 2l 2L 21 30
d < :
| | | | | | | | | | |
o) 3 b q 12 15 18 2l 2L, 21 30

At the 03c|e shoP Busi counts bic3c|e and tr‘ic3c|e wheels.

There are l4, wheels q|toget|'1er‘.

How many bi03c|es are there?

How many tr‘ic30|es are there?

112 18 14 (5 16 17 18 [9 20

B1.9781431500048.ind
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What, comes in 4s?

Some L. number facts ...

Four‘|egs L+1=82x[=8

COWS I’\GVG 'FOUP |GSS.

What, else comes in fours?

G o [ |
Use the facts you know about /s to answer these questions.
- W e 2 cowsw\ e
3 cows W b L cowsm b
/W ke 0 cowsw ke

w | 2z 38 4 B5 6 /7 © 9 10
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ComP|ete the table below. Use the exomP|e to guicle You.

3 cows have legs. | L+ h+h=3xL=__ I
5 cows have legs.
f cows have legs.
7 cows have legs.
8 cows have legs.

Number lines

Show the mu|tiP|icot.ion sum on the number line and complete using\jumps (hops).

112 18 14 (5 16 17 18 [9 20 b5
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oooooooooooooooooooooooooooooooooooooooo

Patterns in numbers

- ' ‘3 Grid Patterns

Which number Pcttern do the circles in each I00 Srid show?
Draw more circles to comP|ete each Pattern.

Whrite a name for each Pattern.

a. Pattern: b. Pattern:
(o) (o) (o) (o) (o) (o) (o)
(o) (o) (o) (o) (o) (o) (o)
(o) (o) (o) (o) (o) (o) (o)
(o) (o) (o) (o) (o) (o) (o)
(o] (o] (o] (o] (o] (o] (o]
(o] (o] (o] (o] (o] (o] (o]

c. Pattern: d.  Pattern:

o

w | 2 38 4 b 6 /7 © 9 10
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a. In this number Pqttern all the numbers are even. What can the other numbers be?
Whrite them in.

CAX X KX XX X

b. In this number Pqttern the numbers are all odd. What, can the other numbers be? Write them in.

C XXX KX KA

Where do theg be|on9?

The 3s and 4s Pattern The 3s and 5s Pottern The 4s and 5s Pattern
e.q 48

“ At the sea

Thembi collects between 6O and 70 sea shells.
When she counts them in 3s, she has | left over.
The Possib|e numbersare:bl, O,
When she counts them in Ss, she has [,. left over.

The Possib|e numbers are:

HOW manﬂ sl‘\e”s cloes Thembl I’\GVG?

0 12 18 14 15 16 17 18 19 20
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a.  Share 30 sweets between 2 children.

b. Share the sweets among 3 children.

)

c. Divide the sweets between 5 children.

eeeme

e

68

30 = 2=15

ol ..




m.\l\/e can use number blocks to do division.

Now do these.

Q.

112 18 14 (5 16 17 18 [9 20
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A

of

g o, ﬁ

Gn.p

Division (continued)

@ Use the number lines to write a subtraction and division number sentence.
ExomP|e:

gt s g g,

o 2 A b 8 1O 12 A [ 18 20
b-2-2-2-2-2-2-2-2=0

- | 2 38 &4 B 6 7 © 9 [0
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ﬂ Draw a number line and solve the number sentences.

-
a 30+56= )
b. 22+ 2= )
c. 21+3= )
d 32+ L= )
e. 26+5= )

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Challenge

Show all the ways you can

divide 2/, sweets eo[uo"H
between dif ferent groups

of children.

Write a number sentence

to Sl’\OW HOUP answer.

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

112 18 14 (5 16 17 18 [9 20

G NUM!G3'B1-9781431500048.indb" 7 014/04/29 3:52 Pm‘




;;"‘;_ . Q¢ E

J

." d . - - T
y o O I e
- . b i . - ]
> - F i . "
L _.i'l'. = » e X
1. -'4
§ - .-
-

.5 3'
%

Fractions

e e e e e e e

One half

One third | —— Ore fifth | — One o[uor‘ter

EI\I

Vem mm mm mm e mm m Em Em mm Em Em o Em Em Em Em Em Em Em Em Em Em Em RN RN Em R R Em Em RN RN Em R R Em Em Em Em Em Em Em Em Em mm o mmm®

T EE N EE N EE O . - e e e . - e Em Ew Em Ew o Ew o - Em Em E

. L - mm mm Em Em Em Em Em Em o - omm oEm I

a6 /7 8§ Y
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m. Share the counters between the two children.

o0 OO 0000 000000
o0 0O 0000 000000
[ [ _ ] o000 OO0
0 o 00 000 e® oo o000 OO0
* We 9ot 2 counters | ® We 9ot * We 9ot * We got
each. counters each. counters each. counters each.
* Half of 4 counters | ® of ° of ° of
is 2. counters is . counters is . counters is

Share the sweets between the children.

- 4
>
©

- e 2 2
2 o e e 2
© © © ©

©

©

® one quarter of the sweets = 3 * one third of the sweets =
® twoquarters of the sweets = * two thirds of the sweets =
* three quarters of the sweets = * three thirds of the sweets =

* four quarters of the sweets =

112 18 14 (5 16 17 18 [9 20
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It's about time

Clockwise

We can write the same time in different ways.

215 5:30 SHAS)
ciuar‘ter Past two half Pdst five oluar‘t.er* toten

Write these times in 2 dif ferent ways.

- | 2 38 4 B 6 /7 © 9 [0

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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Goins home

How |on8 does Ben take to 3et home?

k! 1 i
a1}
minutes -9 1
] LS
r) § 3
hours
Ben leaves school. Ben gets home.

Time flies

Timein 2s ... How many ...

minutes in 2 hours?

hours in 2 claﬁs?

daﬂs in 2 weeks?
months in 2 Heors'?
Apri| qu June
P;IZ\;/Z;:? MTWT;E: M|T|W|T]|F
How mdnﬂ quS? 81a(IOf1]12]13]I4 6|7 (8|9]|I0]1I]I2 3|L|5]|6]|7
1516 [17(18]19]20] 21 13114 |15]16[17]18]19 10 11| 12[13]I14
Aopril 27 is Freedom Da 23[24 28] || [20] 21 ]22] 23] 24 25]26 17 [18]1a]20[ 21]22]23
P 8 30 27(28(29(30] 3l 24 (25(26]27]|28|29 30/
June 1bis Youth DGH.
a. From Freedom DGH to Youth DQH there is months,
whole weeks and clqﬂs.
b. How many whole weeks in all?
How many dogs left, over? .How many dcﬂs in all?
c. Lebo's birthclag is 1 CIQHS before Freedom Dqtj. E Check. Comp are. ]
Musa's bir‘thdqﬂ is two dat:js after Youth DQH. Correct.

Who is o|c|er‘? BH I’\OW man dQHS’?

1z 18 1« 16 16 17 18 19 20 .
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6

Count and say all the numbers from 101 to 200.
Point, as You go.

198 200
m. Writ.ins the numbers

Q.

3 i i -\
All £
% 1
wv 33 ?- +~“ - 5 ....................................... .
ﬂ IR

qua
Target 200

Counting the numbers

101 | 102

12

13l

149

154

165

173 180
|18l 186

Whrite the missing number in each blue square.

b.  Whrite in the rest of the numbers.

C.

‘ ENG NUM G3'B199781431500048"indb™76

Write the next IO numbers after 200.

200;

1 2 8 4 B 6 7 8 9 10
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Write the missins numbers

.|200| | 180 | 87
o 167
o | | 207 |
50
237 |

Whrite the numbers in order

from smallest to biggest.

+
+
Il

N

o)

w

-~ Countlns .o. n f‘rom|oo .......................................................................... ’
Work out what You need to get, to the next number. 3
Start | |OO +25 | 125 > |29 138

11 12 18 14 15 16 17 18 19 20
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Ma Nkosi works at. a candle factorﬂ.
When the candles are r‘eqclﬁ, she chks them out like this in boxes on racks.

HOW mcnﬂ canc“es in eoch bOX?

HOW manﬂ bOXGS on ecch PGCk?

HOW mcnﬁ ccnc“es on each PGCl(?

. 1 2 3 & B 6 7 © 9 10
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Boxes O'F cand|es

a.  Count all the boxes.

MG Nl(OSi CIOSGS the L)OXGS.

HOW monH bOXGS?

How many candles a|together*?

How many more boxes does she need to fill to have 200 candles?

b. HOW manﬂ canc"es in:

2 boxes? § [, boxes? y

5 boxes? 8 3 boxes? i

b boxes? § 7 boxes? 8
. How many boxes does she need for-

OB boxes 708 boxes

506 boxes 306 boxes

11 12 18 14 156 16 17 118

1)

20

2014/04/29 3:52 PM‘
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Putting tens together‘ and

toking them aPort
Putting tens together when we add.

Let's add
56 + 73 = +
[
[
[

5 tens and b units 7 tens and 3 units

\. J

Together we have |2 tens.
We can Put |O tens toegether to make | hundred.

1 2 8 4 B 6 7 8 9 10
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m. Let us trg.

Examp|e: 82 + 34 = I and @ = O

Ve

- 100 +20 + 6 =126

a b5+52

b. 76+ 63

c. 8b+65

1 12 18 14 18 16 17 18 19 20



o 3_5Io
.. S 4=

C

USG HOUP P|oce leue blOCkS.

utting tens together and

toking them qqut (continued)

Use base ten blocks to All togetl'\er Did You group tens or units? Write the
make these two numbers. how many tens? Check the P|qce value where number.
how many units? You regrouped.
tens Il tens + 12 units
— 122

23+ 19 units =110 + 12
tens

38 + 25 = .
units
tens

71+ 3l = .
units
tens

68 + ["5 - units
tens

83 + l"7 - units

Let's subtract: 6O — 55 =

(The units we are tdking away we coloured greﬂ.)

u Taking tens aPor‘t when we subtract,
When we subtr‘cct, we sometimes need to show

one ten as ten units, or one hundred as 1O tens.

We start with six tens and no units. We want to subtract five tens and five units.

HEEEEEEEE

X X h w— \
Al
X X h w— \
Al

We can show six tens like this. Or as five tens and

ten units.

Take away five tens and five units.

Five units are left.

6b0O-585=95

82 ﬂ 22 E% é@ g;

S ‘ ENG NUM G3'B119781431500048lndb 8
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Let us trH.

a. 10-28
R S T T F R 2 3 5
7 tens b tens an d O units 70 - 28 =
b. 90-/4b
c. 80-53
a Finding the number Pqir
a. b.
200 200

30

11 12 18 14 15 16 17 18 19 20



This is what the children tell him. M = | time

How manE times a dGH

dO ou

rush Bour‘
teeth?
b~

v vivivivivilviv]v|v
T g e vivivivivivivivivivivivivly
Gt G T Gt v v || v

=

Once a d08

G

Twice a dc:3

St G

Three times a d03

b. What can You see from the table?

a. Count the ticks (\/ ) showing how often children brush their teeth. Write the numbers.

Most, of the children brush

a ddﬂ

There are children in the group.

S ‘ ENG NUM G3'B1-9781431500048indb" 84
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m' Draw a Pictogroph of how many times a doﬁ the children brush their teeth.

( )

o]

DO a SUPVGB in HOUP CIQSS. ASI( |5_2O |earners.

a. How many times a clqg the3 brush their teeth?

b. Drawa Pictogr‘oph like the one above to show your ﬂnclings.

11 12 18 14 15 16 17 18 19 20
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8b

ﬁa Writins out your sum

Add and combine

start with her number cards to show the numbers.

So for the sum 5b + 73, she finds these cards:

5oy - Fom

She adds the units and Puts down the 9 card.
She knows: 50 + 70 = |20.
She takes the hundreds, the 20 and the 9 card

to make a 3—c|i3it number.

Busi can add units and tens and regroup them. She can add and
subtract on paper, without, blocks. Sometimes she likes to

rShe writes it out like this:
50+70 +b6+3
=50 +70 +9
=120 +9
=100+ 20 +9

= 129

r

( )
Dumi knows how the blocks work.

She does 56 + 73 like this:
50+6+70 + 3

120 + 9
=129

(Aaqu' likes to round off.

Here's how he does this one:

56 + 73
=50+ 70 +10 -1
= 130 -1 =129

17 2 8 &4 B 6 7 8 Y

10
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S X

A,

S

Now tr‘H for Hour‘seho. Do each one in two ways. g S

a. 8b+ 62
( Busis method (Dumi’s method
80+b60+6b+2 80+b6+60+2
b. 72+ 63
c. 8l+57
69 + 7l Use Aakars method to do this one.

\ O

N\

11 12 18 14 15 16 17 18 19 20 &7
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Add and combine (continued)

Now let's subtract.

a. 87-53
( Busis method i Dumi's method
80-50+7-3 80+ 7-50+3

=L —30+1

| B 31'- J L - 31"

b. 95-73

c. 8b-b2

d 85-69

L

M | 2 35 Z 5 6 7 & © 10
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“ Solve it

There are many ways to add units and tens together‘. Choose the way you know and like best,

to solve these Prob|ems. Show your work.

a. Peter first Picks 3L Peaches and then b7 Peaches.
How many Peqches q|toget|'1er‘?

&

b.  The Malusi kids save R4 7 together‘.
Their mother Sives them another R58. How much do thea have now?

RSN

c.  The school bus travels 88 km in the mor‘ning and 73 km in the afternoon.
How many km a|together‘?

11 12 18 14 15 16 17 18 19 20
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Andile
Sipho counts out, 87 bottle toPs. Andile counts out, 38.
How many more bottle toPs does Sipho count, than Andile?

m The school concert

MU%Q
Musa sells tickets. He had 92 tickets to begin with. He has 67 left.
How many tickets has Musa sold so far?

S 1 2 8 4 B 6 7 8 9 10
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More Prqctice

There are 69 chickens in one pen and 95 in another.

How many chickens are there o|together~?

Reod l‘\OW Gugu Gnd Aokar so|ve the Pr‘oHem.

Gugu’swaﬂ
bO+90+9+5

=100 + 50 + I4

=150 + 10 + 4

= o

a. The bOHS collect R9b for a class triP. The gir‘|s collect R79.
How much do theﬂ collect q|toget|'\er?

Use GUgUIS WGH Use AGkGF‘IS W08

b.  One school collects 7b |(9 of cans. Another school collects 68 kg cans.
How many kg of cans do the two schools collect a|toget|1er?

Use GUSUIS Wd&j Use AGkGP,S WGH

11 12 18 14 15 16 17 18 19 20
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Count. and calculate

Finclins the qut

White in the missing numbers.

[ 1o | * | 100 | 1o | ¢ | 100
27 39 43 56
| 200 | f | 200 3| 200 | M| 200
1,0 110 135 120
m.Subtmcting back from 220 t0 100
Subtract the numbers in the Pink box each time.
We have done the first one for you.
220 —15 —| 205 -5 -10
i Here is a way b
- 20 to check your
Start at 100.
-9 -9 “1-20 Work back
to 220.
—-10 But this time,
add the numbers.
—15 ~10 5 |/ 100 | f

o 1 2 3 &4 B 6 7 © 9 10
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3 '.. b s . .
. ~*if f' 2
e J‘.’:a-

- I-l '."'_f

|
[ ] :J-.
|
[ |

Families of three

Find 3 numbers that, add up to the tqrget number.

Ru|e: Oan one number‘ can end in O

Example: {}
< 100 > < <
N )

< 200 < 200
N N )’

50 more dnd 50 |ess
Write the answers in the 2nd row.

70 | 125 150 | 8l 9 @ 122 | 134 Il 70
+50

120

86 200 188 | 119 139 @ 79 | 126 | 138 @99
-0

136

11 12 18 14 15 16 17 18 19 20 %3
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Meqsur‘ing in centimetres

How bis is a centimetre?

I 2 3 IA 5 b 1 8 9

The numbers on the ruler stand for centimetres.

We use the abbreviation or Sljmbo| cm.

When You use a ruler, You must start to measure from O.
Some rulers do not, show the O like the one on this page.

Find zero cm on the ruler. Write O on the ruler.

Where is |O cm on this ruler? Write |O there.

Estimote, then measure accur‘dte|3 with your ru|er, the |ength incm of

the line mqking each shqpe.

/

\. J

a. Estimate cm b. Estimate cm c. Estimate cm

Mecsure Measure Medsure

m 1 2z 8 4 B 6 J 8 9 10

'H\HHH‘\HHHH‘HHH\H‘HHHH\‘HHHH\‘HHHH\‘\HHHH‘\HHHH‘\HHHH‘
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How |on9 is each line?

How many cm |ong is each line?

a cm
b cm
C. cm

ﬂ Are You sure?

Which is |on9er, the red line or the green line?

HOW can HOU check?

N

/ \ ( This is what is called an oPtica| illusion. \

This thPens when your eyes are tricked into seeing
something that is not rea"a there.
The two lines are the same |en3t,|'\.
The black lines extending outward make the red line look

|on9er and the black lines Soing inwards make the green

k line look shorter. )

N

N

11 12 18 14 15 16 17 18 19 20
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Tar‘get 300

Count.ing and wr‘it.ins the 200s

Count from 201 to 300.

Point, as You go.

Then fill in the blue numbers first.

White in the rest of the numbers.

20| 207 210
2l
22|
23|
249
201,
265
213 280
28| 28b
298 300

White the next IO numbers after 300.

300;

W 1 2 3 & B 6 7 8 9 10
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a.  Whrite the numbers that go in each card.
208;

298;

m. What's thejump?

30l

28|

7l

2l

Showins and comParing

30!

276;

227,

209;

3l

I

“ Write the missing numbers.

Start,

11 12 18 14 156 16 17 118

200

+25

300

>

225

286

231

218

1)

20

eacher:
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: clcling and sulot,r‘qcting with 100s

Usmg blocks to add

.
8 +
[ ]
[ ]
)

\
m Follow the two methods. Show each answer in two ways.

a 1324123
( Busi's method | Dumi's method

— 100 + 100 + 30 + 20 + 2 + 3 132 + 123

=200 +50 +5 =200 + 50 + 5
=295 J| =255 )
bl + 162 . \

1 2 383 4 B 6 7 8 9 10
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c. 21b+148

Ve

StuclH each method. Work out, each sum in two ways.

a. 158146

Busis method (Dumi's method

=]00-100 +50-40 +8-b 158 — 146

=0+10+2

=0+10+2

= |2
{ (=12 )
b. 194 -122
o 288-199

11 12 18 14 15 16 17 18 19 20
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v
Target 400

Countins and wr‘it.ins the [..OOs

Count on from 300 to 40O0.

SGH the number‘s as HOU 90.

Write the missing numbers on the gr‘id.

30l 310
315
330
33l 335
249
365 368
213
390
400

Write the next 9 numbers after 400.

LOO0;

e 1 2 83 &4 B 6 7 8 9 10
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m Count forwards and backwards

a. - Counting forward from 300 in tens.

Start | 300 +10 > +10 +10
+lO
End «— +I0 «— +I0 — +10
b. Count back from 400 in tens.
Start | 4,00 | —10 |-> 10 |- -10
I
-10
v
-10 -— -0 -— -10
I
—10
v
10 |- 10 |- 10 |-

300+ 20 + 4 =
300 + 580 + 3=
300 +60 + 2=
300 +80 + 1=

Whrite as one number

Whrite the answers in order from smallest to biggest.

300 +10+ 5=
300 +70 +7=
300+90+9=
300 + 4O +8 =

11 12 18 14 156 16 17 118

19

20

o

2014/04/29 3:52 PM‘



Weighing N

Add some ki|ogr‘ams.

Add and write the answers.
78 kg 97 kg
b kg k é
8 kg + kg + 5k

9

bb kg 7 §
A kg

m. Rounding of f and adding!
( Think smart! )

Jackal 25 kg Tortoise 98 kg Baboon 59 kg qus zebra 88 ks Pelican 9 kg

Round of f the mass of each animal to the nearest 10 kg.

White the mass of each animal in order from |ig|1t to heavH.

Estimate the total mass of the 5 animals.

d | 2 38 & b 6 7 © 9 10

Foccccoro]beoe boeceeoec boeccroooc beccoconoc boccccooocboccocoooc boccoooa Lo |
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Combine their mass

ﬁ ﬁ I may not be as heav3 as you, old Tortoise,

but I sure am faster!

Steps

e Use your rounded of f amounts to estimate.
* Estimate the mass of the animals in each row.
*  Calculate the totals using the actual mass.

O Compore the two totals and write the difference.

Ak 1))
‘7!,\44“{;”&\
& M

u Vusi's mass ( Check. ComPare. Correct. j

Vusi adds his own mass to the mass of m and m

Their total mass is 239 kg. How much does Vusi weigh? Show You answer.

I estimate I calculate The difference

What's my weisht?
PlGH il"\ a SI"OUP. Tdke tUI"I"\S oo

Add your mass to the mass of some of the animals. Work out, the
total. Tell the answer to the group. Don't show them Yyour workl
Theg must then tr‘g and work out, your mass.

11 12 18 14 15 16 17 18 19 20
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TEEB R Y

45 ﬁ
tw

i

.‘_ -

A

of

Target 500

é - _) Counting and writing OO
4Ol AOS) 410
L 420

L.22 427

L3,
L6
458

462 410

L 13 LT
48l 490
499 | 500

a. Count onfrom [,.OO SGH the numbers as You go.

b.  Write the missing numbers in the gr‘icl.
c.  Write the next 9 numbers after 5O0.

500;

d.  Count in 2s. Write the next 8 numbers in the 2s Pottern.

LOO0; LO2;

e. Count in 5s. Write the next, 8 numbers in the Ss Pottern.

4O0; LO5;

s | 2 38 4 B 6 7 8 9 10
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m.lri" in the missing numbers.

a.  Add forward from 400.

Start, | ,00 — +20 |- +30 |- +10
I
+I10
v
End - +50 <— +|0 «— +20
b. Count back from 500.
Start | 500 -2 > 498 » /96 ST
I
v
43L |« LSk |« Lk |< 48L.
I
v
LIl ~ LOL -~ 4,02 400 | End

Showins the numbers. Follow the examP|e.

Find the totals. Use your number cards to show each total.

LO5+10 | 415 | LOO+10+5 || 398 + 10

L4b + 10 424 10

11 12 18 14 15 16 17 18 19 20
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More odding and subtrocting

You are going to use Busis and Dumi’s methods agcin to add.

\.

a 245+ 23|

Busi's method Dumi's method

=200 + 200 + 4O + 30 + 5+ 1 245+ 23

=400+70+6 =400 +70 + b

=416 J =476 )
b 278 +136 y \

2605 + 148

v 1 2 8 4 B 6 7 8 9 10
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We are going to use Busis and Dumi’s methods to subtract.
a. L16-32L

Busis method (Dumi’s method

= ,00-300+70-20+b—-4 16 + 32

=100 + 50 + 2

=100 + 50 +

=162
{ (=182 )
b. 489-/[56
c. 48216l

Reaching the tarset

Studﬂ the Picture.

How much more to reach the tqr'get?

11 12 18 14 15 16 17 18 19 20
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Shar‘loen your skills

3 Secret mountain

What's the name of the highest mountain in Grquteng? Use the code to find out..
Match each answer in the table to a letter in the code.

Al B | C|D E F G | H I J K L M
I 2 3 L 5 b 7 8 9q |10 I 12 | 13
N [ O P | Q R S T u|l Vv | W| X|Y /
L |15 16 | 17T |18 |19 20| 21 | 22 |23 | 24 | 25 | 2b
Number clues Answer Letter
ExomP|e:2><3><3X|=D 18 R

50 + 50 + 50 + I00-200-45 =[]
|+2+T7+10+T7+1-14 =]
60-30+ 50 +20-50-15-20 =[]
3+2+7+1+2+1+3=]
54+3+30=4L+2+12+[]
I00-5-70 =20 +[]

36+ 4L -60-2=[]

0+ 15=14 +[]

2+ 1+ +9+1L=25+]
IX2X2X2x2=[]

The mountain’s name is

| 2 8 & B 6 7 8 9 [0
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m Look, think and answer!

O x C *x O O x C % O O x C % O

| 2 3 4 5 6 7 8 9 10 12 13 14 15
¢ What shape will number 16 be? Tick (\/ ) the r‘i9|'\t one. * 0 C
What shape will number 18 be? Tick (/ ) the r‘ight one. * 0 C
What shape will number 23 be? Tick(\/ ) the r‘ight one. * 0 C
b.
Number 50 will be a %*. True or False?
Number 100 will be a ©. True or False?
Number 28 will be a €. True or False?

( Check. Compdre. Correct.

Which is more?

To get R250 a das Pocket money
for June and Ju|3.

Orto get RI5O totadl Pocket, money for
the two months?

Show how You worked it out..

112 18 14 (5 16 17 18 [9 20

2014/04/29 3:52 PM‘
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ngmetrﬁ

What do You notice about these shqpes?

4 )

A line of svdmmetr' divides a shaPe into two
halves so that each half is a mirror—imoge
of the other.

A shcpe has sHmmetr‘H if you can fold
it c|on3 the line of sHmmetra so that the

‘ ‘ two halves match exact|3.
J

DPGW (o} |ine Of\ sHmmetr‘H 'FOI" eqch sl'\ope.

. Is the dotted line a line of symmetry or not. Circle the (Y) Yes or (N) No.

Y/N Y/N Y/N Y/N

1
I
| -
|
1
I

Is this aline of s3mmetr3? Whg’?

Y | 2 3 4 B 6 7 © 9 10
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Draw shaPes to make the Picture SBmmetr‘icaL

We have done the first one for you.

Create your
own sHmmetr‘icq|
cqr‘Pet using

ShQPeS.

Mo o o —— —— — ——— — — ——————_——————_—_—_—_—_——_—_—_—_ o _ ¥’

11 12 18 14 15 16 17 18 19 20 m
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Bui|cling up to 500

Counting the app|es.

Complete and multiply
| basket holds apples. |1 X10 =10
3 baskets hold apples. |3 X 10 =
S baskets hold apples.
L baskets hold apples.
2 baskets hold apples.
| crate holds 100 apples. 2 crates hold apples.
3 crates hold apples. | 4 crates hold apples.
D crates hold apples. | 2 half crates hold apples.

Y 1 2 3 &4 B 6 7 8 9 10

— ‘ ENG NUM G3'B199781431500048"indb 2014/04/293:53'P



There are 1O oPP|es in | basket..

There are baskets in one crate.

There are dPPleS in one crate.

How many OPPIeS are there o|toset|'\er‘?

Co|cu|qtin3, showins and writing

First use number cards to show each total. Then write in the number.

3 crates --I- L, baskets ’-I- 5 dPPleS . = 345 GPPleS
L, crates - + 5 baskets ’+ 7 GPPleS ' = GPPleS

D crates -+ 2 baskets ’-I- 3 cPP|es ‘ = GPP|es
L crates _ + 7 baskets ’-l- 2 GPPleS . = aPP|es

11 12 18 14 15 16 17 18 19 20 13
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Mu|tiP|ication and division (|O)

Counting the GPPIeS.
Fillin the table.

How many baskets hold the app|es?

Aoples @ | 10 20 30 4O 50
Baskets O l .

—-— sum 50+10=5
X sum 5X10=50

Divide the qpp|es between the children. Make a dr‘awing.
. Write a division and mu|ti|o|icqtion sum to check your answer.

q.

goove. |

\ y, ' \ y,

Check SOU answers
J+[]-
(1x0=01

v 1 2 3 4 B 6 7 8 9 10
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Whrite a = sum

Whrite a X sum to

check your answers

J \. J

Use the numbers to make your own number sentences.

Write a number 10 smaller and O bigger‘ than the Siven number.

, 4,60, , 390, 500,

11 12 18 14 15 16 17 18 19 20
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Count in 2s
r';’ . -) Count.ins forwards and backwards in 2s

a. 232;23L; ; ; : 24.2; ; ;248
b. 500; ; L96b; ; ; L90;

c. LbO; ; ; LOO; ; 360;

d. 34l; ; 36l; ; ; 39; AIE

Can

R AN
s of g vwwvwﬁ

TET W

a. How many Pcirs of g|oves in one row?

b. How many sing|e 8|oves in one row?

C. HOW man POWS?

d. How many 3|oves c|t09et|'1er?

e. Show how You work it out.

f. Whrite Your answer as d number sentence.
X —

™ 1 2 3 4 B 6 7 & 9 10

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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HOW manﬂ S|OVGS?

White in the tables.

W |

I © | &5 |80 | 4 | 4O | 3 | 30 [ 100
2

% | Pair of

9 IOVGS

Number‘ O'F

S IOVGS

Sin8|e g|oves 20 2| 70 13

Pairs that

can loe mcde

Sing|e g|oves

left, over

u Count in twos

a.  Which number comes in between?

261, , 268 34, , 395 L4, 410

b.  Whrite the next two numbers.

373,315,377,319 | 480,482, , 202, 264,

c.  Whrite the next two numbers.

346, 348, LIS, 41T, : 297,299,

11 12 18 14 15 16 17 18 19 20
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Pave with tiles

P|qnnin8 a 9ar‘den
HOW ShQ" I P|oce
them?
Mrs Mabena has some PrettH tiles.

She uses them to que an ared in her‘ Scr‘den.

There are b square tiles of the same size.

I can make I can make 2 rows with I can make 3 rows with
| row with b tiles. 3 tiles in a row. 2 tiles in each row.

bX|=0b 3X2=56 2X3=6b

Now it's your turn!

Shade blOCkS to Sl’\OW hOW HOU can qr‘r‘qnge 8 qncl q SC[UGPe ti|es.

8 squcr‘es q scluares

Whrite number sentences for each clr‘qwing.

s 1 2 8 4 B 6 7 © 9 10

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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m Arrange 12 tiles

Thabo has 12 square tiles to pave next to the house. He|P him find all the ways he can do this.

Whrite a number sentence for each way.

Example: |><|2:|2
HEEEEEEEEEEE 2% =2

Ar'range 2L, tiles

*  Usethe 9r‘id in Cut - out sheet, 2.
*  Shade 2/ blocks in different ways.

*  Whrite number sentences to match each drowing.

“ Ican mu|tip|3!

2 =2X 3 X

I
N

q = X 3

b=3X X3=12 2L, =3 X

11 12 18 14 15 16 17 18 19 20 119
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7 53

Using fives

Knowing your 5s

Fill in the answers.

I 2 3 A S b 8 9 [0

X5 9

m. Counting the candles

a.  How many candles in each box?

b. HOW manH bOXGS in eoch row?

C. HOW manﬁ ccnd|es in each r‘ow?

d  How many candles a|together?

Showins the answer

Tick (\/ ) the number sentences that show the total number of candles.

c. 3X5X5H=

a O X3IX3= b. 15X 3= d 15X 5=

Y | 2 38 4 B 6 7 8 9 10

Foccccocodbeo boecoeoec boeecroooc becoocorocboccccooocboccocoooc boccoooa Lo |
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u Counting forwards and backwards in 5s

Q. 85; ; ;70; ; : 85;
b. 240; ; ; 295; ; ; ; ; 280
c. LO5; ; 395; ; : 380; ; : 365;

Co"ecting RS coins

The children collect, RS coins. How many R5 coins do theg need to collect, to have R___?
We have done the first, two for you.

R5 =~ R5 RIO - R5
= | coin = 2 coins RIS? R207? R257
| R30? R35? RLO? RL5? R50?
: Do you see the
2%XR5=|R ll- X R5 = R Pattern?
3xR5=|R bxXR5=|R

"

MUIt‘iPlﬂinﬂ bﬂ 5s [Examplez [ X5=51x5=552 %x5=105 )
Think smart! Build on facts you know!

#

I 2 3 A S b 7 8 9 |10

5 | 10
I 2 | 3 | 1L [ 15 |16 [T |18 |19 |20
99

11 12 18 14 15 16 17 18 19 20
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